PROFIT, LOSS
Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier

1
10 Robert makes 50 litres of green paint by mixing litres of vellow paint and litres of
blie paint in the ratio 2:3

Yellow paint is sold in 5 litre tins.
Each tin of yellow paint costs £26

Blue paint is sold in 10 litre tins.
Each tin of blue paint costs £48

Fobert sells all the green paint he makes in 10 litre tins.
He sells each tin of green paint for £66.96

Work out Robert’s percentage profit on each tin of green paint he sells.

..................................................... %

{Total for Question 10 is 5 marks)
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3 Renee buys Skg of sweets to sell.

She pays £10 for the sweets.

Renee puts all the sweets into bags.

She puts 250 ¢ of sweets into each bag.

She sells each bag of sweets for 635p.
Renee sells all the bags of sweets.

Work out her percentage profit.

{Total for Question 3 is 4 marks)
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11 In 2003, Jerry bought a house.

Im 2007, Jerry sold the house to Mia,
He made a profit of 20%

Im 2012, Mia sold the house for £162 000
She made a loss of 10%

Work out how much Jerry paid for the house in 2003

{Tatal for Question 11 is 3 marks)
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2 Emily buys a pack of 12 bottles of water.
The pack costs £5.64

Emily sells all 12 bottles for 50p each.

Work out Emily’s percentage profit.
Give your answer correct to 1 decimal place.

(Total for Question 2 is 3 marks)
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3 David has designed 3 zame.
He uses a fair §-sided dice and a fair 5-sided spinner.
The dice is oumbered 1 to §
The spinner is oumbered 1 to 5

Each player rells the dice cnce and spins the spinnsr once.
A player can win £5 or win £2

Win £5 Win £2
ralla & mlla il
and or
spinak spinal
or
both

David expects 30 peaple will play his game.
Each persen will pay David £1 to play the game.

{2) Werk out bow much profit David can expect to malke.

{b) Give a reason why David's actual profit may be different to the profit he expects to
make.

(1)

{Total for Question 3 is 5 marks)
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8 Lily buys and sells microwaves.

She buys each one for £32 and sells it for E60.
She also pays E7 for the delivery of each microwave she sells.

If she sells a microwave that is faulty then Lily must pay for its repair and redelivery.
This costs her another £25 for each faulty microwave.

Last month, & out of the 80 microwaves Lily sold were faulty.
This month she has orders for 133 microwaves.

Calculate her expected percentage profit on this month's order.
Showing your working in the boxes below may help you present your work.

Expected number of faulty microwaves: Expected costs:

Income from sales: Expected percentage profit:
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1  Shari buys a box of 60 candles for £125.
She sells the candles for £2.25 each.

Calculate her percentage profit.

oo %0 [4]
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8.
6 Peter makes a large amount of pink paint by mixing red and white paint in the ratio 2 : 3.

Red paint costs £80 per 10 litres.
White paint costs £5 per 10 litres.

Peter sells his pink paint in 10-litre tins for £60 per tin.

Calculate how much profit he makes for each tin he sells.
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9.

Jahn is going to make chocolale squares to sall.

There are just three ingredients, chocolate, peanut butter and crisped ricer, mixed in tha ratio
4: 2 3 respactively.

(a) How much of each ingredient will he need to make 90049 of mixure?

{a) chocolate ...
paanut butter ...

crisped Aol

(b} A bar of chocolate weighs 200g and costs £2.50.
A jar of peanut butter contains 2509 and costs £1.70.
A packel of crisped rice confains 300 g and costs £2.00.

Jahin makes 4.5 kg of mixture, from which he can cut 100 chocolate squares.
He charges G60p for each square and sells all 100 squares.

How much profit does he make7?

| P LR
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19 Rana sells 192 cakes inthe ratic  small : medium : large = 7:6:11
The: profit for one madium cake is twice the profit for one small cake.
The profit for one large cake is three times the profit for one small cake.
Her total profit is £532 .48

Work out the profit for one small cake.
[5 marks]

Answer £




